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M- B SRAEA) - HRAR - B2 of v G o HIDE2
NSAEg= 2,700
A ESEX 1,500,000 «1CH 1,500
PESST| YS(FIIN)
1,200,000 1CH 1,200
FERS 500,000 * 122 6.000
HAEEH =55 150,000 *12] 150
ASIE Y| St AE=
14,3003 x 122 172
o SHes 5,500 128 66
202 04| 34,272 34,272
01 =LHO LI 34,272 34,272
A EH0H 280,000 x 17 * 122 *60% 34,272
203 HR=H| 9,792 9,792
01 J|2=2gge=ay] 5,940 5,940
Q1-238H0| ek 6,600, 0002 *90% 5,940
02 At RS &| 612 612 0
Tt R =AY
40,0002 17 *00f% 612
M FA2HARFAI 3,240 3,240 0
SRS
300,000& x 122 x00% 3,240




